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Il # B % # ERE KL E LM B #E ¥ 15 415 # 3%
1 MRS AREE |RLAEHK ITER-ZFEFHA 1 25,000 25,000
2 (AR B REME |/ TR/ R ITHR -4 M 1 150,000 150,000
3 |[HARIR S R Bfte 8 RA(EMERAEE FTHR-ARERERA 1 70,000 70,000
4 | BHERBREE |4BEBEPFE-ZENTHIGE |ITERR-ARERA 1 320,000 320,000
5 |MMERBRXE |FHAREEHRAELLE ZEME-B e 4 20,000 80,000
6 |MARIR B RXM y’i%%f\n(/\ﬁ*a BEFRIZE) BZENE-BTa 1 60,000 60,000
7| S AR B B R 3R f}"“ & AABTRALRA | 15,000 15,000
8 |MMithE &AM #m@ Y BIE REHEETRALRA 25,000 50,000
9 [MHEBREH | AREBEEERMHESZERT BZTEE-TRa 1 580,000 580,000
10 (MM ESARHE REZEEHBELE ZEMeE-E e 1 |3,000,000 | 3,000,000
11 |[MmEBSR%G (RETHAHHBERAR T EME-Eaa 1 100,000 100,000
12 |MmMEBREHE |(ANTRERHBFTREBE T EME-Eaa 1 30,000 30,000
13 MR B RAG |(B4aeEnEd ZEMeE-E e 1 |3,500,000 | 3,500,000
14 | HARiR B R | TR E %MKk T EME-Eaa 1 200,000 200,000
15 |MmER B R%H |Fa2BER BMEE 1 35,000 35,000
16 | MR B R%B |[E8 HEF 1 20,000 20,000
17 |MHREEREHE (ZXWTH et 1 35,000 35,000
18 |BZ AW A e EAF ZENEE-BEa 1 22,000 22,000
19 |BZA#HH P X HA T ZENEE-BEa 1 110,000 110,000
20 |BZ At FXEE BEZE-BEm 1 1,000,000 | 1,000,000
21 |BE AWM B X #AF ZENEE-BEa 1 330,000 330,000
22 |BE AWM BxXEZ BEZE-BEm 1 |1,500,000 | 1,500,000
23 |B A& MEH BXREMEXEE BEZEMeE-BEa 1 {1,500,000 [ 1,500,000
3t 12,732,000 #RAE
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Fie| # B % B ERE KL E LM H B #E ¥ 15 415 # 3%
24 |BE R EH 7 3 HA T TEME-BEa 1 440,000 440,000
25 |BZ Aty FEHOMR KL LTEE B EZEMeE-BEa 1 600,000 600,000
26 (B & &% AN §-F 3 CRCE -3 BEZEME-BEa 1 55,000 55,000
27 |BEZ RS 5B REEN BZEAMeE-EEa 1 150,000 150,000
28 if& g K48 ITER-ZEFHA 1 14,000 14,000
29 E< ] tbﬁ%%i EH50000T/ IR @B [ATEOR -4k 1 350,000 350,000
30 :%A%%; Bt Bk AR BY 2% TR - 1 15,000 15,000
31 B Bk B4 ﬂ%ﬂ&a%z’&% &-XRRE £ nd ATHR-FT R R A 1 60,000 60,000
32 ‘“m& REAGSE_IOT2FE)BER (BEZEME-FNa 1 990,000 990,000
33 “‘s%‘%iz RIEA$F=I(BZ2FE)ALHR BEEME-TRa 1 |1,000,000 [ 1,000,000
34 iR o R Ak R a%ﬁ T EME-Eaa 1 150,000 150,000
35 iR o AR R — LT EME-Eaa 1 120,000 120,000
A3t 3,944,000
A& 3t 16,676,000




